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UNIVERSITY OF NORTH BENGAL
B.A./B.Sc. Programme 4th Semester Examination, 2022

DSC1/2/3-P4-ECONOMICS

ELEMENTARY STATISTICS
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
All symbols are of usual significance.

GROUP-A
e+
AE-B
1. Answer any four questions from the following: 3x4=12

fasfeie - orafe alvss T mies
TAD] Pl ARACT YAgwd] IR (GBI
(a) What is a frequency distribution?
ARy Kere ¢
JMgRT fIaRoT ot @& B 2
(b) Differentiate between population and sample.
FEF @ TN T 2N T4
SR A ufdeeiTsT urefe RN |
(c) Define harmonic mean.
e caae olted weel @141
BRI ARIHT TR fEgeN |
(d) Give two advantages of mode.

R 7o 1o HRl Srad 391

I8ADB D] Gsacl BISaEw JASqe |

(e) What do you mean by measures of central tendency?
(FE 2T @0 6 (10T 9
Dwrd UgRT A9 9Tl & If3ro ?
(f) Define standard deviation.
@ AL FeTCe 5 @RI 2
AMG g ar gy e |
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GROUP-B
er-4
AE-
Answer any four questions from the following
Faferiee - 5176 etss Tea wie
TAD] Pl TRACT YA8wd] IR (GBI
2. Show that SD is independent of the change of origin but dependent on the change

of scale.
@S (@ @l 2N AR R AR T eaiie T 5 Waiw AT
Tofg freaiiet|

A9e fdge™ (SD) SARI®! uRaddde Wa= B a) URAMS! gRad=Hr R
g0 9l SESIeEN |

3. Calculate the AM from the following data:

Class interval | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
Frequency 14 38 44 54 45

fwiaiie aifey @ Nfdfes stea ww 5 s

@rere €0-Y%0 | Y0-90 | 90-b0 | O-H0 | $0O->00

AR A 8 o 88 8 8¢
FrforRaa dediemdare SR A (AM) FeiRer T84
Jofy 3FARTd | 50-60 | 60-70 | 70-80 | 80-90 | 90-100

gfT 14 38 44 54 45
4. Find mean and median from the following frequency distribution:

xp | 145 | 245 | 345 | 445 | 545 | 645 | 745 | 845
fi 32 42 40 56 20 6 2 2

Ao ity @ 1o ¢ S T e

Xi | 98.¢ | 8.¢ | ©8.¢ | 88.k | €8.t | LW8.¢ | 98.¢ | V8.«

fi UM 8% 80 @Y 0 \ N 3

x;p | 145 | 245 | 345 | 445 | 545 | 645 | 745 | 845

fi 32 42 40 56 20 6 2 2
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5. Compare between Arithmetic Mean and Harmonic Mean.

aMfifes oIe uk RISAAE 5ltea 1 541
BRI AR AT BHD ARIHATST Ui TN |

6. What is mode? What are its advantages?

RS T [ 9 @3 AR @74

gD WD D B ? DT BISaes d D B ?

7. Calculate the mean deviation of the following values about mean:
8, 15, 53, 49, 19, 62, 7, 15, 95, 77

fAfeie aifrere o QG 5o 2t [T s
b, 5, @9, 85,55, YR, 9, 5¢, d&, 99

A AR FTRIT AFTead] ARl f[dere A T
8, 15, 53, 49, 19, 62, 7, 15, 95,77

8. (a) Compute the Standard Deviation (S.D.) from the following data:

GROUP-C
retat-of

e~

Answer any fwo questions from the following

fwferiie @-= 7f6 et e wie

TeThT Bl ggacl UeAswd] IR fAgei|

Marks 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
No. of Students 5 12 15 20 18 10 6 4
foea Rreiom (s emiel =g fda e
DR Q0-3p | W0-9p | 80-8% | €O-&d | VO-Vy | A0-9% | bO-b'd | 30-3
Q@R | ¢ PN NG %0 St S0 \ 8
frfoRaa dediedre w1 faae™ 0T T84
3D 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
faemeft @ | S 12 15 | 20 18 10 6 4

(b) Write two advantages of S.D.
eflel N 1o kit @2
AM® 9™ (S.D) &1 g8dcT Higalew Jdsdery |

4032

3+3

12x2 =24

10

Turn Over



UG/CBCS/B.A./B.Sc./Programme/4th Sem./Economics/ECONDSC4/2022

10.

11.(a)

(b)

4032

What are the merits and demerits of Arithmetic Mean and Geometric Mean?
aMfefow 91C @R @retes 51T ARl @R SR e SiETb 91
RO W A TOTR ATRAHT T[0T A SVE® & & B ?

Calculate Arithmetic Mean (AM) of marks of the students who appeared for a test
in Economics.

Marks 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

No. of Students 2 3 11 20 32 25 7

Sewa 9 A (U anfdfes sie-az wiw e 542

ERE ©0-9p | 80-83 | €O-¢d | YO-Vy | 90-9 | bO-b'd | HO-3D

RIGRYT | R © P 30 LR} N q
3FITIETeh] UReToTT SuRkerd femiiewnd! sihd! By wed fFehledald;

3h 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

foemeft | T 2 3 11 20 32 25 7

Distinguish between simple and weighted Arithmetic Mean (AM).
T G IR SRS T T N1 741
T A MIRT iR AregHTsT ureled TN |

Prove that the sum of deviations of a set of observations from their AM is always
ZEero.

eiriel 1 FARISCR 1S (A RITIE AL lorzesT 371 o) 2|

TATHTEED! FUTHI JABIAVRI A (AM)-dTe [aae=a! ART Wad I §°0
T g e |
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